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PART I QUESTIONS: Show all of your work.
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6. Which of the following is equivalent to the expression shown below? ( ZX+ l)( 2%~ ,)

& 7 <l
U( xl—lx e Zx ~—I -
-4
ot 1\ B R !"fx =2
Y g e H|J+2x [ —|
7. Which of the following is equivalent to the expression shown below? ( X - 'é) ( X + é)
X +6
xz—f-éx —éx —36 X 5. L
SR | X ol e
Tone. Ite Toms X : s
2— —_34 __,b _—éx —'36
Q. From questions 6-7, add the two expressions (answers) together.
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9. Which of the following is the correct distributed form of the binomial ox
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.10. What is the product of (3x -3 )-and (x+{)? S
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12. What are the zero’s (roots) of the parabola from #10? BOX the Zero’s on the graph.
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13. What is the vertex and axis of symmetry of the quadratic from #10? CIRCLE the Vertex on the graph.
DRAW the axis of symmetry.
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14. Write the expression below in simplest form. (f x? =] +3) - (S,xz-l- Z X - é ,
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I%,. Graph the function f(x) =4 _/x+< on the grid below.
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